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Find the specified term of each binomial expansion.

6. third term of (x — 2}')‘ 7. second term of (x° +_1"§D 8. fourth term of (.11‘2 - 2_»‘@
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10. The coefficient of the second term in the expamsion of (r + s)" is@Find the value of #, and write the complete term.
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11. Use Pascal’s Triangle to determine the binomial of the expanded expression n - ‘.T
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12. Error Analysis Your friend expands the binomial (x ~2) as
V012 + 306t + 160x7 + 2407 + 192x + 64. What mistake did your friend make? What is the correct expansion?
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9. The term 126¢”d" appears in the ex
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